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2017 International Mathematics Primary Contest (Taiwan)
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( B)1. #1KE - AD//BE - BD//CE - HOA=4 - AB=x » BC=x+10 - Bl x=?
(A)6 (B) 2410 (C) 4410 (D)20 - L
R 0,
£ AOBE® - AD//BE - ..OA:OB=0D:CE......D

£ AOCE % - BD//CE + ..OD:0E=0B:OC.......Q
FHO®T{S - ..0OA:0B=0B:0C

S AT(A+X) = (44 %) [A4+x+(X+10)] » (4+%)? =4(2x+14) » x =210 (Bl x =210) -

(C )2. MNAHE - AABCH - £B=90° - BCDE R%EH - AC EADE #81¢ F - B4
EF:FD =1:2 - BIl AAEF : ACDF : }:/Z/BCFE =? R

(A)1:2:4 i \F i
(B)1:2:6
(€)1:4:8
(D)1:4:9 8 c

BRAT: - AAEF ~ ACDF A

. AAEF : ACDF =EF :DF =1:4 .

7% AAEF =a - Bl ACDF = 4a

jH3EBF - ABEF =%ACDF —2a g L c

ACBF =2a+4a=6a
AAEF HEIf&: ACDF Hf&: ##2 BCFE Hf&=a:4a:(2a+6a)=1:4:8 -
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( B )3. MAE- AABCH - AB=AC - AB EIAC I ELR L~ L, 135 O HELAABC
M=BRHBIZNG-D-E- FIUE - #BD=DE=EC=2/3 - BIMMER AGOF 5+
EEEEAZVEREM?A)Sr (B)9r (C)12z (D)16x °

AR

AD =BD = DE =EC = AE

AADE BIE=fAf -
/1= /3=30°

X AB=AC - AB:BC=1:/3=6:6/3>AB =6
S AG =3 - BIER AGOF BISMEEER A0 =2AH =6 + ¥f&=3

S EE= 97 FFFHEAI -

( D )4. WMAKE - BD -~ CE4RIYIER D 25~ E B - K32A+ 2B+ £C=?
(A)120° (B)150° (C)160° (D)180° -
AR

jE§%0D - OE - BD -~ CE &4
A+/2=180° + /1=2/A

N s2=,3+/C

2> 2/A+/3+,C=180° - X /3=/A+~/B

=2 2/A+ LA+ £/B+ £C =180°

S3/A+ /B+2C=180° -
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( ¢ )5. 4E-E O B AABCHIYMER - AB=AC =10-BC =12 AD 1 BC - AE =CE -
A
BIOF HEBZ/?
2 5 11 E
(A)g (B)g (C)E D)1 - F e

REAT: B\?/C

AB=AC=10 - AE=CE - -~ BEA®4 - O BIM
~AD A4 FBEN - AD=+10°-6° =8

$%BO=0OA=x - OD=8-x : ~BO =BD +0D

25 — — — 25 2 11
2 262 +(8—X)’Px="" . OF =OA-AF =———-=x8="=»
X“=6"+(8-x)"=> 2 2 3°8=5

( c)6. MAE - IENEH, ABCDEF P - [RREA-BEXx#E -FEy# L - BHAZ

RIAMIZR(1,0) - % 1 BB IENER ABCDEF (AL - BEMER(@, b) - Bl a’+b’ 2

ERA?A)S (B)6 (O)7 (D)8 1 E_D
BRI -
AOAF:?’E;O =60° + LFOA=90° - OA =1

~OF=+3 - AF=20A=2
221G LABI G
Blb=1G=0F=+3 + X a=IF=AF =2

cat+b? =224+ (¥3)? =7
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(A )7. @y - %xz BI4T x BT EESR A - B L - EAA0B BE=AT - Al

A ZEEYARIE =7 (A) (23,6) (B) (3V3,5) (C)(3V3,6) (D) (43,5)

BT ”
A y:_l_xz
i A BHRVKEALES a, GeIEAR Db 2
1 o 1 p
FHy=>x*.18b=>a’..... @ B A
2 2
X(TA = @ =2a > X
0O

EAAOP & - HE S EEA b*=(2a)*-a°

2 b=+/3a(Blb=+/3a)....... @)

EE(D@?%%H-)%aZ:ﬁa : %a:ﬁ ca=24/3

na=2J3 - b=6 - & A(23,6)

( B)S. AEI® - Q RUABAERM¥E LHW—% - O BEW - PQLAB - OB=6 -
BROP=x « B x RBDF - AOPQ WEBERA? Q

(A)2v2 (B)3V/2 (C)44J3 (D)5V3

£OP=x + 0Q=6 + y=AOPQHIE =1 x V&'
h y2:1x2(36—x2)=-1(x2—18)2+81£81

4 4
Ex*=18 - yVARAKEAS]L

x=3J2 + AOPQ HHEITESBR KX -
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(B )9 WHEE ZERFGHEANMERNEEEHNEINE - BFRITERE - B
£ E5E - ERE—MH IR Q FANE - St PN ARREN ST IR P
g4HE] - B Q ZERM?

s

(A)39 (B)40 (©)41 (D)42 s ; '

S S0 57 68

AR s (NT)
EQ Q1=X
1 3

bxp=> - 8 2 AR x AR

6x%:3 . %3 4 IBBEAB 50x2=100 AF

6x>=> . %5 (IARER 57 A4 - 35+x+100+57+68=50%6 - x=40

( ¢ )10. MEE - EEbHFREROELEES S 40 A4 - 80 A% - HAESHT

DER=FN(HEAR) - FPREAITE 1 55 2 57 - MRFAIMESSH D - Alfth5S 2

DEERBE?

2

(A5 B): (O3 (D)

BR

F&5 40:80=1:2 - Ik EIE/NEEIE=3:1

31 3 1 2 2 3 2 5
Bk 2 P ox==— . INE 2 D -x==— . I 2 PifE="1+ "= ==
=ik 2 7 153" 12 INE 7354 2= 12 15 2 DR TRETIET,
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( A )11. 5tE 365 -366x364+367x368-366x369 Z {HA?
(A)3 (B)4 ()13 (D)14

AR

a% a=365

FEx=a’-(a+1l)x(@-1)+@+2)x(@+3)-(a+1l)x(@a+4)=3

( D )12. 167 +/45 —\7-/45 =2

(A)6v5 (B)3v10 (C)v/5 (D)v10 -

REAT:

£ X =17++/45 —\[7—/45

D X2 =T +J45+7 45 - 2,/(7 +/45)(7 —/45) =14—2./49— 45 =10
> x =IO BIEH -

( B )13. E&I2x*—3x—-7=a(x-1)*+b(x-1D+c - Kaxbxc=?
(A)le (B)-16 (C)14 (D)-14 -

AR

OEAERDPa=2

@% x=1  fKA2X* =3x—7=a(x-1)*+b(x-1) +c

=»2-3-7=c c=-8

®% x=0- X A-7=2-b-8 - b=1

axbxc=2x(-8)x1=-16 -
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( ¢ )14. A "mesh" area of 8 square meters with a wire, as shown, how many
meters of wire should he prepare at least? (excluding wire thickness)

#E: REMEMER 8 FHARN "H., FHEEE - B - AlthZ D EEHES D

ARBE#? EHEEAET) y

(A)8 (B)12 (C)16 (D)20 -

fEth: MEFRERRA x - By xy=8

b
¥
4

NEHERA 2x+4y RMBEREREG 2x+4y22,/2x 4y
22X+ 4y >2/8x8=» 2x+4y>16
BIZEVE#EE 16 ARSI -

( € )15. BL333x+333fk-5x* +6x -2 MR B {a?

12 13
(A)-12(B) =355 (O)-13(D) 7555 °

B

OA=-5x*+6x-2 - B=Xx+1
A+B 8% -5x+11 - 88 =-13
A=BX(-5x+11)+(-13)

@333x+333=333(x+1)=333B

2> A= 3338><§( 5x+11)+(-13)

BRTVA-13 -
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( D )16. FZ—FE=H5A n IHAIFNA S, © H.510=6 » S20=20 - Al S3p=?

(A)26 (B)32 (C)36 (D)42 -

AR

% S30=x26, 20-6, x-20 HKE=E5

2>2Xx14=6+x-20

>x=42 - Bl S30=42 -

(A )17. BER X+ +ax+ 7B - 2x+b FIBEIMEX S x+3 88— x+4 -
sk axb=?(A)-6 (B)6 (C)-5 (D)5 -

AR

OXP+X+ax+7=(X*=2X+b)(X+3)+(—x+4)

XX+ X +ax+7 +x-4=(x*—2x+b)(x+3)

X +x rax+ T +x-4=(x" —2x+b)(x+3)
I

=23b=3 " b=1

DX +x +ax+7 +><-4=(x2—2x+'17|x+3)
L |

2>1+a=-6+1a=-6

axXb=(-6)X1=-6 -

(A )18 Ha-beR. [ax+]<bgymE-1<x<5 . Blaxb=?

3B el ool
-5 B, ©-5 O

IMC BRI EnE QERYE $£88H / H13E WWwW.imcct.net



fEH:b>0 - -b<ax+1<b . -b-1<ax<b-1

~—b-1 b-1 -b-1=a
SXSTE—lSXS5-)

= a>0o>

b-1=5a
( 1
a:__
< 2
> . 3...(RB)
2
—b—1:5
i —b—l>X b-1 1] a
= a<0> a4 - ——E—ES_X - e»b_lz_l
L a
( 1
a:__
b-1=-a ) 2
?|-b-1=5a > |,_3
2
61><b:—l><§:_—3
2

(B )19. #a-baE. B(@—V2)1+bv/2)=-1+5J2 . glaxb="
(A)-6 (B)6 (C)-5 (D)5 *
f2#7: a+aby2-+2-2b=-1+5.2
(a—2b)+(ab—1)v2 =-1+52
a—-2b=-1 3
-){ab_1:5 » % a=2b-1 XA (-1+2b)b-1=5 - b=-§0r2 - U b=2

a=2%x2-1=3: tiaxb=2%X3=6
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(B )20. B_HEE Y=k +6X—3 . EHFIASEE x - HFTHEW y1E& - Bl k
EEEAMT? (A) k>-3 (B)k<-3 (O)k>-2 (D)k<-2
BR

a<0

_ a2 ,
f(X) =ax” +bx+c rﬁg-){bz _dac<0

B4 k<0 B6%°+4-k-3<0

= k<-3

( D )21. Calculate the exact value of 42-2x%(8-3)="?
#iE: "42-2%(8-3) 1 FIELIEMHEE?
(A)200 (B)100 (C)23 (D)32
R SERFREINE - ERELM - FX=42-2X5=42-10=32 -

(A )22. Which tank will fill up first?
(A)JF (B)G (OK (D)H -

=)
iE. I — B S Kt R S w aE? e
BRAF: D F H 0353 - 1 fE@ELE L \J A
B |
= O LEEETK LELEAF J Cl_

BRI F B 2ei ok Al - ‘.

=

i

|

(A )23. Figure out the following number laws:
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B RETIRFREE
14%2=21
20%4=75
36%9=320
40x10=?

(A)396 (B)386 (C)376 (D)366 -

REAT:

14%2=14X2-14+2=28-7=21

20%4=20%X4-20+4=80-5=75
36%9=36X%X9-36+9=320
40%10=40%X10-40+-10=396

( D )24.1%/1000 ZZ8(th - 1% 3 MIfSEEE 4 IS B BILIO KRAEFEZR -
1 20A507A0 1011QBUOLAITR19AD 2

23 R 25 26 ...
503 /A /A (9 BEEOBRMIMIASES IV E?

(A)164 (B)165 (C)166 (D)167 4 -
i (34)=12 - B12ABmEA 24
1000+12=83.....4
2x83+1=167# %D -

( B)25.AB-C-D-ERASMEH - moR107  BHREH -
A:"TE47ME - .
B: "BRE&HSS - .
C:"RZ2AMDARYFELY - ,
D: "®=2 5 EARFELS -
E:"RESSFE-S ?i:l:l:C 2573
iAfE B 1S%5? (A)7 7 (B)8 7 ()9 ﬁ (D)10 %43 -
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24T BB C D - E 355

(1) A=4 - F D<4 - Bl D &IE7 (D AolgE2 5 B ABIFL)
(2) A=4 - & D=A=4 . Bl C= A;D =4
NELECZ273BIER6%7)  BID Aolg 5 B ARFLS -
(3)#R#8(1)(2) D>A=4 - 5 AX/NDIB>E>D>C>A

(4)A=4 . C= A;D = 4;'3 3D 2EH

0% D=109 F&(B41 B £5)
Q% D=8 c=A_;D=4T+8=6 L ELECZ 2% - E=8

D>B=5X6-(7+6+5+4)=8.. %5 - &EB -

—_ - EIERE(ERE 25 7)
1. ZBIER )R x-1 ~ x-2~ x-38FXABIZ L~ 37+ K FX)BRA(x-1)(x-2)(x-3)
ZERERM?

BR

FO)=(x=-DQ () +1
FO)=(x=2)Q,(x)+3
F(x) =(x=3)Qs(x) +7

5% f(X) = (x—=D(x—2)(x—3)Q(X) + ax® +bx+c
Alf@)=a+b+c=1" f(2)=4a+2b+c=3 '+ f(3)=9a+3b+c=7
a=1:b=-1-c=1

BRIl=x*—x+1 -

2.X BEE - 3K (%) = (% +4x+5)(X* +4x+2) + 2x* + 8x +1 Z B /IME A T?
BE A

(1) FO)=(x"+4x)2 +7(X* +4x) +10+2(x* +4x) +1 = (x* +4x)* +9(x* +4x) +11
(2) D t=0C+4)=> f(X)=t>+9t+11
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(3) t=0+4x)=(x+2)>-4 » t>4

(4) f(x):t2+9t+11:(t+§)2_£

4
t:_gﬂz t>-a SEEA
W t=-4  f)BR/IME - (-4)°+9X%(-4)+11=-9
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